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1. FEROMIFELE

« IFEEDHGHERY DFRNAERT, 9
HAZH . BREELyEAD P THIA
DRNEAFHIEEM ? INREBIR

ARPLRERISHTERNITEEMN ?

1.1 CGEDRBDR IR

ANETOEANHER
Ap =—-div(v-V)v+div(v)/ At
U Z9EcHEERIE
Ax=b; AbELTEIZD yEATHFR
U CGhTHxEsE
[E DR (x)IEyBTHINZTESD ?

2. HENERNDIE

« CGHEFHZHITIFTIZDRFRIEER DD,
HNHRED=OTRRAFETHIUEN AR

q=ApDEtHE
q(i,j) = Al(1,))*p(ij-1) x5
+ A2(1,))*p(i-1,)
+ A3(1,)*p(i,))
+ A2(i+1,)*p(i+1,))

+ Al(i,j+1)*p(i,j+1)

2.1 CG%(7nT5 L4

KEFHE T Ax =bDffx%ERDD.
p=r=b—Ax, xI IR fE

Ay =(r,1)

LT, < eOBURGfF )& 72 % & TRET 2.

g=Ap, a=24,/p.q)
xX=x+ap, r=r—oq
A=rr), L=X14
p=r+fp, A =4




FHPMREEDOAORE

- AAEHMTERTSET/NERACTI
float,double T R)EE TIE TR D E
IEFDEFETHRRNELDIEENH D,

EHERHTE)
(r+x)+x;, = (x;+x,) +x,
FE/NIR (BRHTE)

(x,+x,)+x; # (x;+x,)+x,

3.1 FERMNERZ LB
- 03 TEEEAROHROBIETRY

X, =215, x,=124, x,=0236
M) (x,+x,)+x,DEtE
X +x,=21.5+124=227 « 2274
(3, +x,) +x, =22.7+0.236 = 22.9 < 22.936

Q) (x,+x,)+xDEHE ™
X+ x, =0.236+1.24 =1.48 < 1.476

(x;+x,)+x, =1.48+21.5=23.022.98
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4. HHENENDREA

o BREBUTHIAERY N LpIEIZD X HRED
O TEEDRIGEZRNH S,

4.1 BEBUTHIDESHEZR

o HMFELMET: (k=ny-j)

Al(ik) = Al1(1,j+1), p(i,k-1) = p(ij+1)
H e FELIET
A2(ik) = A2(i), p(i-1.k) = p(I-1,j)

« H8FELAEF

A3(1,K) = A3(LK),
HA&FELEF

A2(i+1,k) = A2(i+1,j),

p(i.k) = p(i.j)

p(i+1,k) = p(i+1.)

H; BFLEH,DGETE
H, — H, —H, THALPDESEHR
(i,ny-j)=(i,k) HHEF=LAEF
Frormmr s HA&F=L#&F
Ls H#&F=L#&F
L,— L, — L, HA&F=LI&F
(i,j) Hs%%z Ll*%?

o HARFELEF

Al(ik+1) = Al(i,j), p(L.k+1) = p(i,j-1)

2 MEFEMICE@|EEE

s LiEF(1,)REHMEF(,ny-))=1LRTIET
52D Ef%liﬁl%ﬂ‘]l:lﬁluf‘ﬁ)éo
s LEFG)HR
q(ij) = AL(1J)*p(ij-1) + A2(1.j)*p(i+1,) + A3(L,j)*p(Lj)
+ A2(i+1j)*pGijtl) + AL+ 1) p(ij+1)
- RS
q(i,k) = ALK *p(ik-1) + A2(,K)*p(i+1,K) + A3(1L,K)*p(i,k)
+ A2(+1,K)*p(i,k+1) + Al (L k+1)*p(ik+1)

4.3 q(i,)=q(L,K)D I LEWREER

. ‘Fﬁamq(i,j)tq(i KIEEERIZRECTHAHH.
DIRED-DENELDGENH D,
. LJ%?(l,J),.“
q(i) = ALGL)*p(ij-1) + A2(ij)*p(i+1,j) + A3(i)*p(i)
+ A2(i+1,y*p(ihj+1) + AL(Lj+1)*p(ij+1)
s LEFGER
q(ik) = Al1(i.k)*p( (ik-1)+ A i.K)*p(i+1,k) + A3(1,k)*p(i,k)
+ A2(i+1,k)*p(i,k+1) + Al(i,k+1)*p(i,k+1)




5. AHREZR—ICTHIX

« QIEDMEEDONOREFHEIBFICKELEWLS
EEFA, O THEIEEZERE

o LEFG)=
q(i) = (A3(i,j)*p(ij) + (AL *p(ij-1) + AL+ *p(ij+1)))
+ (A2(ij)*p(it1,j) + A2(+1,j)*p(ij+1))
s HEFG 08 (LEFER—IZ15)
q(i,k) = (A3(1L,k)*p(i,k) HA (LK) *p(ik-1)+AT(Lk+1)*p(i,k+1) )
+ (A2(i,k)*p(i+1,k) + A2(i+1,k)*p(i,k+1))

51 W —T%&EHR—IZTHIE

. FROBIZOERTTHIET 2L0ET—
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| do j=L,ny-1

[ do i=lnx-1

q(i,j) = (A3G,))*p(i,))
+ (ALL)*p(ij-1) + AL+ 1)*p(ij+1))
+ (A2(1))*p(i-1,)) + A2(i+1,j)*p(it1,j) )
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Un-symmetric solution points = 0
k=1.0, £=100.0
-div(k.grad(u)) = f
10X 1053 &I TLEER
RN =T B 7
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Un-symmetric solution points = 7
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X(i.j)
3FF4803EBC75E90E
4000803EBC75E90E
40066648496100C4
4000803EBC75E90E
40112F66F7F2AB28
40131BE1958B67EC
4018533208EF2E81

X(1,NY+j)
3FF4803EBC75E90D
4000803EBC75E90F
40066648496100C5
4000803EBC75E90F
40112F66F7F2AB29
40131BE1958B67ED
4018533208EF2E82




